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— - ZEEfERE (154 B3 SY) BN TEALEAEESEE TES -
1. Hyperventilation '

2. Isokinetic Contraction
3. Lean Body Mass

4. Motor Unit

5. Cardiovascular Drift

Z - fHEE (359)

1. SEREEEREEEN% & HEE Excess Post-exercise Oxygen Consumption » MiETshE EEEE
& (197) -

2. EERUE Lactate Threshold B4R SE - Wit P B SURBIR T AEAE (97) -

3. EEEFES delayed-onset muscle soreness B4R RS Ko 4{a] B S AIRIE RIS R D EEEE (9
ﬁ) o .

4. FEHE—EEERKES SRE RSB EEEERN
el ~ P EH TR EATRE SEREE (1043) -
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TR iy (EERMBEEE
EAAE Basic Knowledge (MIR{FERGEREEEMMIRSY » WTHHEFGEE)

FrEgi 4 (scalar) 2R 27 MEHUERE. » 40 < BfE ~ B - B E - mE(vectonAIREF T
MERYEEE > 40 RS - R IERE - -

B —EENHEEEZ (EREREER) W=ERFERX 0§ 2 - E=ETEEEEM
FE HEhAEE-1NEMNEE HR—KREEFR 1HNEE - Eﬁ@ﬁﬂi@ﬁﬁ%%ﬁ% o
EEMHEE 2 WEESE (SR aL,a, Ma) Bla=att+ad+ az o mEa WEE (Ll

BT B el =y @y @) BZEL EREb=bi by bE o AIEEED =

\[(bl)z +(b2)2 +(b3)2 °

FrEmREERIPRE - BHARENS BREOMS  h—4E - 22 Mb BN (955 ab)
Bl ab=abi+ab+abs « LARREEHT AR - Bllalbl(cost) - EH#EHY 6 KM
A -

FraEmaE e M b AR (HERAHE  Fitkab) > EER '

% 5 5
axb=|a, a, a, |= (azbs —asbz) X +( asbi— a1bs) § +( arba—ab1) Z * H—AERIMEHTTT A AESPKHES
b, b, b,

{EFIFTE - B axh EIE{ERlaxb) = [albisind) - TiJ7E (EfE=1) KikEEFER > AREER 2
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b K977/ - BEAAFER  BIEEATNINEAER o FEN D HTESH - RIREENTE
BURFTREVAE « B9 - REREREAN={EIT A ERITEE - Xx)

BB R £ x BV - B £=A(x) » MEENBLLIRER f0OR o(), P LURTRR £/ ¢ © FFoB
df/dx » B F%f x B985 EHBE h#BT 0B > (fxth)-f(x) Vh EYfE - fEESE RN dx/dx = nx™;
dsin(x)/dx = cos(x); deos(x)/dx = -sin(x); d(Inx)/dx=1/x; de"/dx =e* ; B —E /A3 product rule:
d(fg)/dx = (df/dx)g + f(dg/dx), BHERRBEITRIEMS  SRATENMATRMEE - I EREAIMITR
DIFT% 5 chainrule: & f=f(x) B x=x(t) » Bl df/dt = (dffdx)(dx/dt) - B % x BUFLI IR0 x F t HIHST
A EARES © [f(0)dx=F(x)+C, BIEI F % fREH, B dF/dx =1, T C A%E. Bl dx=
x™(m+1) +Co EFEAFHRE L TE, Flif x=a H 3 x=b, RBSNEREKFO)F@ CPREM
FEHCO . BRufvEExHEE, Blfudv=uv-fvdu (5EHED).

A

Z j‘/X2=J% ; §X£‘:y °

If

TR #5154 Formal exam questions start from here.
= EHEE S8l S, foa

1. HlEsE—gEEE (BYEER) 9 ERAETSEERET YR - FiIMIa=08g
A) E1HEE. B) REEFIE. C) RIFEHEELED. D) FRIIE

2. BAAGEFH 10m SEEHTE@E=0)  HFRRZERES » BKFELRERS) m/is ?
(BREIIEES 9.8m/s?) A)ll. B)12. C)13. D) 14,

3. fREG—ppEE G TFEMER, FHETEKTENERESEEE 1n). SURNEER 3kg V)
AREEE 4m/s > BIRERMEEDERE LI UHEFEREE 7 A)48. B)36. C)24. D)
12, .

4. &L, FEESESESEEEERNKTER) LET, RENE Im. DBERFERAESIHGE
(ARSI GRENTEHTEE) . 2R RMTEER? A)2.13 B) 313 C)4.13
D) 5.13

5. —(EERE T YBEEE 5k SIEEKTHNRER 30° EITMEES 9.8 w/s*» [REEE
S YEsERIE FEEER S 7 A)49m/s B)98m/s® C)5Sm/s® D)34m/s®

6. ERB—HEEZ HHEKERAR ), LENEEERA R, EREERENR—2
ELRIAIEE(ERRIRIEE). BIBETE MAE Z FFEEFAES A)sind  B)cosd C)tand D) 1-sinf

7. —EEERIVEER 02kg s MGDL 40 m/s HEREERTRIR - FAREEBEERIEE R AR 7 5
H, BREEBARAEES 30 m/s, RRFIEASRNEERZ D Ns (FIE-T)? A)14 B)10 O)5
D) 1.

8. BEBETEWNEER Oke. & EHMETESSHE, REVRERS3ns THEEREY2H
BEyEshEES 10kegm?. HARIRAASZPER?  A)1040 B)1050 C)1060 D) 1070

P~ AR 26 )
1. (65 HE  E=EEHN=ESE25%2,1,5 Mla
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1.1. K EEZ A& @ D) °
1.2. kK a f1b HIYME (Bl axb) -
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2. FraF dffdx - BIEREL f)% x B985y > EEAE h R 0F » (fx+h)-f(x) Vb BYE - REBILES,
E R ‘
2.1. 24 dEd)/dx =3x%.

d 1
22. 34y &= 2R

3. Function f(t) is defined for positive values of t. The Laplace transform of f(t), denoted as L{f(t)}, is

0
defined as: L{f(t)} =F(s) = f et f(t) dt
0
That is, after the transform, f(t) becomes a new function F which is a function of variable s.
3.1. (3 4F) Show that L{ e* }=1/(s-a).
3.2. (3 47) Let df(t)/dt be denoted as £(t). Then show that L{ £(t)} = sF(s)-f(0). You may need to apply
integration by parts for the calculation.

4. (B/NE3 5y, 359 5)) EEREERRER T TBIAVERIREE: - EERHERIVEEARL A F=(E
EREENERIEESHR ax, ay, and a; - EEREF S FIEIELL B (W=(EEHEEVEN
[AIE5TH S by, by, and b, - —FEBEMEERLARES @ # NMETFHAREEE  HIEEASK

41. o R a, BE, FHEMHEE b LAE o TIEZERL% A B ax, 2y KER

4.2. % O BhE 2 WAL REEkE P BB, B O 83| P MIALE M E rop = Rbx = R(axcoso-
aysing). HIfE A BRI ASTERET P BEHEE % Ave= Adrop/dt = R(-axsing- aycosp)(de/dt) - 35
Adrop/dt FRRAL A BEE RS rop BITRERIBS . A FETE RSB IR (RERERAE P BB
H O WAEIES m(or x Avp). sEaTE BRI AEIE BRI AIMS . \

4.3. PR O BRIl e, (HERAE Q BSHIMLE. EerEH A BZRABIEN Q B . BEEH
AR PQ (P 2 Q B R ERE, HEMHN B BERFICAHEES why
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